* it 6404 20| 77 (115 12 [ 23| 22| 24| 10|55 [115] 75| 55| 71| 80 [189[4159]130]130[115[ 23 | 48 |158]|195] 95 [ 48 [108] 11| 20 | 81 [136
B pad 25 4 3 41 7 3 2| 2

Ebrat 5% 5 pad 35 312 3 2 2 71213 2] 2 2 2
P e 66 513 2 6| 10]6|2]5 7173 5 5
HETAE pad 30 3 [ 10 2| 4 5 6

Y by 48 3 2|2 4117|542 5] 2 2

T e 19 4 7 3]s

% pad 14 3 2 5 [ 2]2

THEER (SLHEE. EH. Sy WESE. ALSREE [ 133 16 427 10] 28 [13] 4 8 |10 918 12
Pl pad 70 2 3 4 515 5|5 4

TBUE pad 27 0 2 2 2 7122 3] 2 3

78 5k e R bR pad 17 11 2 4

Vi pad 25 2| 10 3 2|3 5

25 1) AR GO 8 4 4

Wi E (EMREE R AT, it ARZAR) 2R GO 55 12 18 17 8

EEHEHE GEEO HE GO 2 2

faies T 42 3 31 {2]2 4
Ebr4t 598 5 T 40 3 28 | 2 2 2

Y T 50 38 [ 5] 2 3] 2

g T 15 1nl2]2

P T 20 2 14| 2] 2

EESITHES T 70 31471 ]2 2 3142 5] 2

R T 54 240|342 3

HoFR(S SR T 70 3[54]2 4| 4 3

EMEAR T 40 3| 29 2 313

Giil % T 70 2 2 2 3| 543 4

TR T 73 4| 56 3 3] 4 2
HLBRE (AR AR . Uk LR B RedilG LR T 469 6|7 1]6]7 3 415109 40339 2]2]2 5110/ 7]2]5|4[3]|5]5
MU AR (P AN E1ED ) T 100 100

AL R B i TR T 92 312 3 3 412 2 2

Tl T 30 4 20 3 3
ERawE T 156 4 3 2 316 2]4]4 5|53 5

MFEFAR 5 T 70 3 3504 4|3 3

e EL T 75 3 2 | 54 4 5] 4 3

MEHELE T 64 2 4| 45 5 3 3 2
HETE T 105 2 3 3 417 |2 2 51213 2 2
SJEMEL TR T 82 2 3 2 2| 54| 2|2 5

FToplAES AR TR T 97 413 3 3 2169 | 2|4 5] 2

el 53 ) TR T 86 3 2 (3 3 314 3[52]2 2l 4f3]2

B TREAHAMT T 77 2 3| 54 3 7 2 4 2
HAEEREHFERELRE, AP S5EA, G TR T 258 8|62 5 6 5[16]5 2184 2|5 4|7 9] 2

{5 BT (R oAb 1ER ) T 80 80

Azt T 178 413 4 5[16]6 2 [122] 23] 2 4|2 4 5
Hla A TR T 68 313 3 3 3 313 37 | 2 3 3 2
TN (RS SEAR, LR, ME TR, SE%48) T 463 7]l11]5]5[3]6 8 7187 9 [321]5]6]2 3| 7l5]2]6]2 5] 2
4% T2 (P4 & 1EIrE) T 80 80

AR (ELARTHE., @SS SN TR, SHKRZES T T 324 315 3 4 12| 241 6|8 319l13]9 5 3




hETHRETZ T 187 3 2 5 | 143 4| 4 5|5 2
KA LR T 80 60 4 8| 4 4
B TR T 100 5| 76 5 5|5
TR T 90 3| 63 3 6| 3 5
TR T 80 2 | 60 2 313 2
AR (RS s D T 83 62 2 313 2
ZAETR T 80 4 | 53 3 6| 4 4
Y TR T 63 2 2 2 | 45 2 4 2
[N T 207 2 5 [ 138 2 415 4
T = T 80 3| 54 5 5| 4 4
il T 70 3| 46 2 5|5 2
DA SR T 70 3 | 51 4 5(3 4
Eike- T 70 63

FHAYSTEEGEEEHESEERAS. TREEH T 130 3 3 4] 94 4|2 6|2
TSR (FLEEE, TEH. Sl MEEE., AN5ES [T 216 5 5 7 | 169 6 5] 3

Yl EE T 50 3| 36 2|2 5 2
ITBE R T 30 2 2 2| 7 2 2
BG4 S AR T 13 8

/RN =g T 36 30 2 2

YL T 100 5| 69 5 9| 4 6
Tl T2 T 31 2 | 24 2

PR (ESEEA T R it A2 b N €=D) 2 2

HEHE G2 g G 8 5

25| SR (Ao | 24 412 2 3 11 2

PSR (R B IR PR AEZAD SR (gD | 141 18] 13 13 11]17 51 16

EEHE G2 E R | 20 20

e LR A 3 5

[EH R &5 595 SEAHCE 8 3 5

el SEACE 4 4

Yif ZEEBCE 7 5 2

s ZEEBUE 6 4 2

P SEAUCE 6 4 2

2 Ak % e D 6 3 3

T )y CRAECE 2 2

HUBEE (BB TR . U TR 2 Rl TR SEACE 21 9 5

MR B R Pl T2 LEACE 13 5 3

TR LEAHCE 4 2

BETHE LEAHUE 5 3 2

SJEME TR SEACE 8 3 5

Tl AR TR LEACE 8 4 4

AeE 530 ) TAE SEAHUE 4 4

B TEEE AL SEAUCE 8 5 3

BT EEEEHETEETRE, TR SHEA ARG THR SEACE 22 7 5

Azt SRATUE 12 4

ML\ TR SEACE 2 2

TEHE (S ENAE SR, BATE, METE, EE%4) e 27 11 6

AR (EEARTE, #HATSAEN TR, SHOKEFS TR LEACE 9 2 4

hETERETZ ZREBUE 13 4 4

EHU (HES. W2 D SEAUCE 7 2

TR LA 2 2

I AR B 5% e 2 3 3




TREMEE G TREE, T8, it MEEH, AVREE  |sbus 21 11 6
ATEE A SRETTCE 2 2
gL SRETCE 4 2 2
Tk TFE SRETCE 4 2 2




x5t 6404 | 4 |20
A pa 25
E R 5% P 35
55 pa 66
HETHE P& 30
iif Lk 18
s Lk 19
R pa 14
(1202) TRE P& 133
Yl FE pa 70
ITBUE P 27
57 8l S5 SR pa 17
Yy P 25
o] ZAR GO 8
(1305) itk 2R GO 55
HEHE GEED wE GO 2
A FET 42
E a5t 5 R T 40
JiE T 50
R T 15
B T 20
RS EEE T 70
N FE T 54
HIE{E SR T 70
EYER FET 40
ARil2E T 70
T T 73
HURSE (AU LR . MR+ TR T 469
LA T (AN EAEDR ) FE T 100
PELR R R 35 ] T2 T 92
Tk it FE T 30
TR T 156
WA 5 FE T 70
e T 75
MEME FE T 64
ER e Y T 105
SJEME T FE T 82
THLHEE B TE T 97
ReVR 530 /) T2 T 86
HL A LR K H 3k T 77
HTERER(EHEFEELRE. ETREE5HEAR. @E TESL) |#MT 258
B E R TE I EELS) T 80
Hzhik T 178
Hlgs N L2 T 68
(0809) THH ALK FET 463
W& T2 (P AN EAED ) T 80




(0810) A T 324
(081001) +A TF% T 7
wxEITESETZ T 187
K LR T 80
[z T 100
il LA T 90
i TR T 80
(0828) K T 83
TR T 80
S/ EN T 63
[ AR 125 5 T 207
TRy = 5 T 80
ik T 70
AR 5% T 70
Ei s T 70
(120D EHEEZE TEE T 130
(1202) T.Fa & B2k T 216
Pk FE T 50
T T 30
57 8l S S R T 13
YN =g5 T 36
Y LR T 100
Tk TFE FET 31
(1305) #it22K 2R 3D 2
WEHEHE GEEO wE G 8
(130402) £ Hj SR G | 24
(1305) #it2=3K SR Char e | 141
WEHEHE GEER HE CApcE) | 20
T CEA R 3
EFrgbt 5% CRE U 8
55 CEA R 4
YLk CRE R 7
i CEA R 6
B CREUUE 6
I Ak CRA R 6
TFEJI% CRE U 2
HUBSE (AL C R . MBI 7~ TR CEA R 21
PR R K 35 ] T A% CREUUE 13
LR AN CRA R 4
HETRE CRE U 5
SJEME T CEA R 8
THLIEE B AR LA CRE R 8
Rl 52 ) TR CEA R 4
H A LR A H 3k CRE R 8
HTEEREHAEE LR, ETRESHEAR @E TES) |ZGANUE 29
Hzhik CEE U 12
Hlgs N T CEA R 2
(0809) THEHLE CEA U 27
(0810) A e 9
WwEIESTE CEE U 13




(020401) HFrZH5 5 5

(0828) ZH K D 7
TR EEUE 2
I PR 5 2 CEA R 3
(1202) TRE K CRE R 21
THEH CEA R 2
Vi CE AU 4
Tk T CEA R 4

12

11

(120402) 47 B B




3

215[4

10

7

10

2

4

2

4

5

3

6

13

17

5

10

11

10

31

28
38
11

14
47

54
29
54
56

100

20
116 | 2

50
54
45

75

69

52
54
1841 2

80
122 2

37

80

10| 28

18

4 1339] 2

3

2

2

9 1321

7

9

5

6

7

2

12

5

6

6

8

3

8

1116 (7

5[5]3]6

16

7

11

771115(12]123122|124[10]55|115[75]55|71|80[{189[4159|130)130]115]23]48[158[195]95]|48]108| 11




9

13

319

4

6

4

6

16

143 | 4
60

76
63

60

62

53
45

138

54
46

51
63

94

169 ] 2

36

30
69

24

11

51
20

12] 241

5

7

4

3

11

13] 11117

18] 13




11




20

81

136

12

16

10

21




22

HEB TR



12

11

=KF
/K



